
Corrections for EOR Lecture �ote 

Session 8: Feb 26, 2009 

Molar Density, lbmole/ft
3
 

 �����, �� = 1.683�0.1987 − 7.5885 × 10��������1.0 × 10����� − 14.7�� 
---------------------------------------------------------------------------------------------------------------------------------------------- 

Session #10: March 19, 2009 

Steam injection with three phases and four components 

Component Mass Balance 

C1: 

   ∆������������∆����� − ���∆ �� + ∆"#�$�$%�&�#∆�$��� − �$�∆ &' + ()*�+, 

 +#��-���� + �$-$%�&∗ = /0
12 Δ245�6������� + #6$�$%�&7 

C2: 

   ∆��������8���∆����� − ���∆ �� + ∆"#�$�$%8&�#∆�$��� − �$�∆ &' 

 +#��-���8 + �$-$%8&∗ = /0
12 Δ245�6�����8� + #6$�$%8&7 

C3: 

   ∆��������9���∆����� − ���∆ �� − ()+,�*� + *,�:;� 
 +���-���9�∗ = /0

12 Δ2�5�6�����9�� 
C4: 

   ∆���<�<�<=���∆�<��� − �<�∆ �� + ∆"#�$�$%=&�#∆�$��� − �$�∆ &' 

 +#�<-<�<= + �$-$%=&∗ = /0
12 Δ245�6<�<�<=� + #6$�$%=&7 

 

Unit:   *�+, = " >?@ABC AE FG
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  *�+,�:; = " >?@ABC AE NAOC
H2I�H J�,:�KLM' 


